Month Ended: May 31, 2023



# **Market Value Summary:**

	Current Period	Year to Date
Beginning Balance	\$5,317,040.58	\$5,078,318.02
Contributions	\$12,838.51	\$100,895.69
Withdrawals	(\$28,000.00)	(\$139,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$3,987.96	\$14,343.10
Administrative Expense	(\$72.67)	(\$420.41)
Investment Expense	(\$116.25)	(\$1,115.69)
Investment Manager Fees	(\$6.04)	(\$192.22)
IFA Loan Repayment	\$0.00	(\$3,990.29)
Adjustment	(\$1,232.88)	(\$1,232.88)
Realized Gain/Loss	(\$15.16)	\$4,387.73
Unrealized Gain/Loss	(\$74,580.47)	\$177,850.53
Ending Balance	\$5,229,843.58	\$5,229,843.58

# **Performance Summary:**

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	5.35%	11/01/2022

### COAL CITY POLICE PENSION FUND

Fund Name: COAL CITY POLICE PENSION

Month Ended: May 31, 2023



Market Value Summary:			Unit Value Summary:		
	Current Period	Year to Date		Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00	Beginning Units	0.141	1.420
Contributions	\$0.00	\$0.00	Unit Purchases from Additions	0.000	0.000
Withdrawals	\$0.00	\$0.00	Unit Sales from Withdrawals	(0.141)	(1.420)
Transfers In/Out	(\$1.41)	(\$17.59)	Ending Units	0.000	0.000
Income	\$1.41	\$17.59	Enaing Office	0.000	0.000
Administrative Expense	\$0.00	\$0.00			
Investment Expense	\$0.00	\$0.00	Period Beginning Net Asset Value per Unit		\$7.333333
Investment Manager Fees	\$0.00	\$0.00	Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000
IFA Loan Repayment	\$0.00	\$0.00			
Adjustment	\$0.00	\$0.00			
Realized Gain/Loss	\$0.00	\$0.00			
Unrealized Gain/Loss	\$0.00	\$0.00			

# **Performance Summary:**

**Ending Balance** 

#### COAL CITY POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	11/01/2022

\$0.00

\$0.00

#### COAL CITY POLICE PENSION FUND

Fund Name:

Transition Pool

Month Ended: May 31, 2023



### **Market Value Summary:**

	Current Period	Year to Date
Beginning Balance	\$1,467.08	\$84,495.35
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$1,442.15)	(\$88,000.13)
Income	\$5.85	\$107.21
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$29.30)	\$2,722.64
Unrealized Gain/Loss	(\$1.48)	\$674.93
Ending Balance	\$0.00	\$0.00

### **Unit Value Summary:**

	Current Period	Year to Date
Beginning Units	161.682	9,677.313
Unit Purchases from Additions	0.000	1.450
Unit Sales from Withdrawals	(161.682)	(9,678.763)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

### **Performance Summary:**

#### COAL CITY POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	11/14/2022

#### COAL CITY POLICE PENSION FUND

Fund Name:

**IPOPIF** Pool

Month Ended: May 31, 2023



### **Market Value Summary:**

	Current Period	Year to Date
Beginning Balance	\$5,315,573.50	\$4,993,822.67
Contributions	\$12,838.51	\$100,895.69
Withdrawals	(\$28,000.00)	(\$139,000.00)
Transfers In/Out	\$1,443.56	\$88,017.72
Income	\$3,980.70	\$14,218.30
Administrative Expense	(\$72.67)	(\$420.41)
Investment Expense	(\$116.25)	(\$1,115.69)
Investment Manager Fees	(\$6.04)	(\$192.22)
IFA Loan Repayment	\$0.00	(\$3,990.29)
Adjustment	(\$1,232.88)	(\$1,232.88)
Realized Gain/Loss	\$14.14	\$1,665.09
Unrealized Gain/Loss	(\$74,578.99)	\$177,175.60
Ending Balance	\$5,229,843.58	\$5,229,843.58

### **Unit Value Summary:**

	Current Period	Year to Date
Beginning Units	533,152.689	526,560.429
Unit Purchases from Additions	1,442.502	19,288.875
Unit Sales from Withdrawals	(2,938.479)	(14,192.592)
Ending Units	531,656.712	531,656.712
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

### **Performance Summary:**

#### COAL CITY POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	3.26%	11/22/2022

### Statement of Transaction Detail for the Month Ending 05/31/2023

### **COAL CITY POLICE PENSION FUND**

Trade Date	Settle Date	Description	Amount	Unit Value	Units			
COAL CITY POLICE PENSION								
05/01/2023	05/02/2023	Transfers Out	(1.41)	10.000000	(0.1410)			
Transition Pool								
05/25/2023	05/26/2023	Transfers Out	(1,442.15)	8.919671	(161.6819)			
IPOPIF Pool								
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(1,232.88)	9.970079	(123.6580)			
05/01/2023	05/02/2023	Transfers In	1.41	9.950600	0.1417			
05/11/2023	05/12/2023	Redemptions	(28,000.00)	9.947348	(2,814.8206)			
05/23/2023	05/24/2023	Contribution	12,838.51	9.909975	1,295.5139			
05/25/2023	05/26/2023	Transfers In	1,442.15	9.820810	146.8463			